PART - | (PHYSICS) 4T1- | (|ifte fasm)

Straight Objective Type

This section contains (1-20) multiple choice questions. Each question has 4 choices (A), (B), (C) and (D) out of
which ONLY ONE is correct.
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Figure shows a cubical box that has been constructed from uniform metal plate of negligible thickness.
The box is open at the top and has edge length 40 cm. The z co-ordinate of the centre of mass of the
box incm, is :
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V-T diagram for a process of a given mass of ideal gas is as shown in the figure. During the process
pressure of gas.

(A) first increases then decreases (B) continuously decreases

(C) continuously increases (D) first decreases then increases.

(in kelvin)
ey amest i @ Afdad gmE &1 V-T 9% fa= & uelRfa 8| A= ufhar & <RM i &1 <
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Both the blocks shown in the given arrangement are given together a horizontal velocity towards right. If
a.m be the subsequent acceleration of the centre of mass of the system of blocks, then a., equals
(before sliding stops at all surfaces) :
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u=0.1
1kg f

u=0.2
2kg
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(A) 0 m/s* (B) 5/3 m/s’ (C) 7/3 m/s* (D) 2 m/s?
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A uniform cylinder of mass M lies on a fixed plane inclined at an angle 6 with horizontal. A light string is
tied to the cylinder’s right most point, and a mass m hangs from the string, as shown. Assume that the
coefficient of friction between the cylinder and the plane is sufficiently large to prevent slipping. For the
cylinder to remain static, the value of mass m is-
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A particles of mass 25 kg, moving at 6 m/s, is acted upon by a force in the opposite direction to the
velocity. The variation of force with time is shown in the graph. Then :
25 kg SHE &1 U F91 6 m/s & a7 J el 81 39 R 99 3 fIuia faen § v 9o sRiftg 8| 9

T T & Hew a7 # wefldfg g o
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(A) Its speed will be 2.5 m/s when the force stops acting.
S99 IR B9 &€ 81 Sfdl & a9 &Y &1 ardd 2.5 m/s B |

(B) its magnitude of average acceleration for the whole time interval in which force acts is % m/s?
9 79 g SRIU Bl & | $9 QR BT & 3iFd @O PI GRAT %m/sz%l
(C) its magnitude of average acceleration for the whole time interval in which force acts is % m/s®

19 9 ge1 3RIMNG BIaT € | 39 SR BT & JRId RO BT qRETT %m/sz%l

(D) Its direction of motion will be reversed atleast once during the time interval.

fod T WHY rRTT | B BH W HH Uh IR AT fewn uRafda e 2|

A ring of radius r and mass per unit length A rotates with an angular velocity ». The tension in the ring is

(A) Lo (B) zero (C) ra?r (D) “”22'2
31 rden A ghie dwTE SFHM dTell 99 o IO 9 § goiH IR B 2| 9o § 919 BT
(A) hor? (B) T (C) ho’r D) o
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In the figure shown, a small ball of mass 'm' can move without sliding in a fixed semicircular track of
radius R in vertical plane. It is released from the top. The linear velocity of the ball at the lowest point of
the track is :

ONECN ® 2 © = (D) zero

& 'm' THFEE B TF Bl I8 RFAGER R BFow & 1@ Rer sEgaR gu
W fa el Seafer qa § I & FHd 2| gae M J g e S
& | g @1 X 97 v & qe e Ry wE

10gR 5gR 3gR
(A) | — (B) ,/7 (C) ,/7 (D) @

Two sources S; and S; of same frequency f emits sound. The sources are moving as shown with speed
u each. A stationary observer hears that sound. The beat frequency is (v = velocity of sound)

2 2
(A) 22 . 2 (B) 2 2V 2f (C) % (D) None of these
vi-u V2 —u vi-u
u u
5 s
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32 g of O, is contained in a cubical container of side 1m and maintained at a temperature of 127°C. The
isothermal bulk modulus of elasticity of the gas in terms of universal gas constant R is

0, 32g® 1m 4l & TGR ga 4 127°C & A9 R @1 1Al 2 | 9 & GHAUIG AIa JedRerd
o 1 A Adfe 9 fadie R $ usl 7 g6 -

(A) 127 R (B) 400 R (C)200 R (D) 560 R

A particle moving on the smooth horizontal floor with 10 m/s strikes a wall PQ at an angle 37° normal to
the wall. After the first impact with wall PQ it under goes another impact with wall QR which is
perpendicular to the wall PQ. If the coefficient of restitution during collision of the ball with each of the
walls PQ and QR is same and equal to e = 0.5, then the speed of the ball after collision with the wall
QRis :

HYUREN &fS T W 10 m/s @ A1 | e Uh $U SR PQ & e | 37° &1 SV 91 g9
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(A) 10 m/s (B)5mis
(C)4mis (D) None of these 3% & 1§ &l
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A particle is ejected from the tube at A with a velocity V at an angle 6 with the vertical y-axis at a height
h above the ground as shown. A strong horizontal wind gives the particle a constant horizontal
acceleration a in the positive x- direction. If the particle strikes the ground at a point directly under its
released position and the downward y-acceleration is taken as g then find h.

U6 el Sl SHedler y-3fe | 0 DI W q RAAR RIAd A h $a18 W &, 399 (b 0 I AH Va7
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(A) h= 2V?sinfcos0 (B) h- 2V%sin0cos 0
a g
2 2
(C) h= 2%sin()[coso + %sin@} (D) h= lsine[cose +Ssin 6}
a a

A particle moves in a circle with a uniform speed, when it goes from a point A to a diametrically
opposite point B, the momentum of the particle changes by F—’B - IE’A = 2]kgm/s and the centripetal force

acting on it changes by IEB - IEA =8i N where i and j are unit vector. Then the angular velocity of the
particle is

TE HU1 gRlId A W U FAE g A A 2 | 99 98 A D de A g (™) W ugEa @ a1 g9
PV F GAT Py —P, = 2] kgm/s § aRaffa &1 v 8, qun ey ger § uRads F, —F, =81 N &
R SEli o | Ui afew & a1 du @ sty =e el

(A) 1 rad/s (B) 4 rad/s

(9} 2 rad/s (D) 16 nrad/s
s
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A single conservative force F(x) acts on a particle that moves along the x-axis. The graph of the
potential energy with x is given. At x = 5m, the particle has a kinetic energy of 50J and its potential
energy is related to position 'x'as U = 15+(x—3)2 Joule, where x is in meter. Then :

U6 Uha Gel 9 F(x) @ W10 § U6 &1 o x-38 & ey o B, @ fog, Rufiw & &1 x &
WY gRads = e # gl T ® | AfR x = 5m R @ @t o ot 500 @ e 39 Refd w
Rerfersr St @ Rafy X' & @ @ U = 15+(x-3)° o[t & o o & wief x fiex # 2 af -

U (Joule)

64

x(m)

(A) The mechanical energy of system is 69 J.

fam o1 7e S 69 J 7 |

(B) The mechanical energy of system is 19J.
e @ Tifys Suf 1981

(C) At x = 3, the kinetic energy of particle is minimum
X =30 & IS FHell A B

(D)  None of these ST & IS el

A ball is dropped on a large smooth inclined plane of angle of inclination ¢

37°, from a height of 29—0m above the point of impact. The coefficient of 20
9

restitution of the impact is e :% then choose the incorrect option [Take

g=10m/s? Fixed

37°mmwwma@mwwiﬁmaﬁm@
AR U@ e @ fkm @ fRn o 81 3k eqww e ez%éﬁlwzﬁaﬂmwaﬁﬁn

[g =10 m/s”oid ]

(A) The velocity of the ball just after the first impact is 5m/s.
Ugell THR & Ol d1G g B 97 5m/s B |

(B) The maximum distance between the Incline and the ball between the first and second impact is %m.
g @, Tedd N uuH qd1 G cam & wen Afida gl %m%|
(C) The time interval between the first and second impact between the ball and incline plane is %s.

ﬁ%,wwuwam%ﬁaaw%mww%s%l

(D) The time interval between the first and second impact between the ball and incline plane is 2s.
g &, Fadd W UM d1 g <aaR & A o G 25 ® |
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ABC is a triangle in vertical plane. Its two base angles ZBAC and ZBCA are 45° and tan™" (1/3)
respectively. A particle is projected from point A such that it passes through vertices B and C. Angle of
projection is:

ABC SeafeR el # Uo Br{el 2| 399 Q1 MR 10 ZBAC T /BCA %1 45° Tl tan™ (1/3) 2| U@
FU 3l fog A ¥ 39 UOR Wefta fan S & 5 g et B e C 9 ToRan @ | Jev $1o7 8

Vertical

tan"' (1/3)
A Horizontal

(A) 60° (B) 53° ()37 (D) 45°

Spring ballance are attached with 2 kg, 3 kg and 1 kg blocks in three different cases as shown in figure.
If X4, X2 and x; be the readings of the spring ballance in these cases then :

for 7 ferg o fafer Rl § 2kg, 3kg @1 kg @ el & (@ G4 HAMRR qell s & T4 g4
Rerferll # FAFGR Tl & WEATS AR Xy, X AR xg 2 -

2kg 2kg 3kg 2kg 1kg 2kg

(A)X1=0, X3 > X (B)X2>X1>X3 (C)X3>X1>X2 (D)X1>X2>X3

A body of mass 10 kg lies on a rough inclined plane of inclination 6 = sin‘% with the horizontal. When

a force of 30 N is applied on the block parallel to & upward the plane, the total reaction by the plane on
the block is nearly along:

&’Tﬁx‘rt%?ﬂ%l():sin‘% Tl BV ATl TGRSR T T R 10 kg TEHA B T g I g @ | 94 T

T @ TR SR 1 AR 30 N BT 9 1 911 & 79 9 R 9% R G gfifbar (@) fes
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Efficiency of a carnot cycle is % If the temperature of sink is reduced by 65 kelvin and source is

maintained at the same temperature then the efficiency becomes % . Temperature of the source is —
ao‘mfﬂ?ﬁaﬁaam%%‘Wﬁﬁmmm%%ﬁaﬁ@mmawmaﬁmmwmﬁww

ma‘rmam%a‘rmﬁ%m‘mmamg‘m—
(A) 525 K (B) 400 K (C)325 K (D) 390 K

The bob of mass m is attached to the massless string of length /. It is released when the string is
horizontal & bob is at point P. Find the net acceleration of the bob when it reaches point Q. (the axis
passing through point O is horizontal and the mass moves in vertical plane.)

m SEHM & Mol ( ATE B GAHH e T A dASH g & | 39 = 3l A srawen § g P
| BISI O 8| O I8 s fdg Q W Ugadl & | 76 39 Mald B ol @9 1 I | (O A ToR
arelt 367 &fIST B, T Merd SedleR Il # Y B 2 )

(Ag (B) 3g (D) 2g

A block of mass 60 kg is released from rest when compression in the spring is 2m (natural length of
spring is 8m). Surface AB is smooth while surface BC is rough. Block travels d distance before coming
to complete rest. Value of d (in meters) is : [g = 10 m/s?]

60 kg ST & U e P fORMERT | Bl oal 8, 99 RY7 2m |uifed 2 | (R &1 wafas awrg
8m 2 |) WerE AB Rrdil & | Sfafeh Wee BC GRadl | wife QU wY A Wbl | Ul d g8 T HRal & | q9
d (#rex #) &1 #7192 [g = 10 m/s?]
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Straight Objective Type

This section contains (21-40) multiple choice questions. Each question has 4 choices (A), (B), (C) and (D) out of
which ONLY ONE is correct.
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21.

22.

23.

24

25.

26.

27.

A gaseous mixture of H, and CO, gas contains 88% by mass of CO, . The vapour density of the mixture
is:

(A) 19.48 (B)11.5 (C) 6.25 (D) Cannot be determined
H, @2 CO, ¥ & U Irf fasmr § CO, @1 ge@aw wfer 88% & | fsmr @1 amg e & &
(A) 19.48 (B) 11.5 (C)6.25 (D) 3T T e < T,

The orbital angular momentum correspondington =4 and m = -3 is :

nN=437am= -3 G PP PO I &

h \/E h \/3 h
A)0 B) — C D
(A) (B) g S (O) —
What is the correct order of 2 ionisation energy ?
fedfra smam ot @ wd w9 @ R ?

(A)Cl<P<Si<§ (ByP<Si<Cl<§ (C)Si<P<CI<S (D)S<Si<Cl<P

Which of the following hydrogen bonds is the strongest ?
o & 9 P BTSSIO 91 Ve & ?

(A)S-H..0 (B)O-H..0O (C)N=H..N D)F-H..F
Which of the following contains both electrovalent and covalent bonds ?

(A) CH, (B) H,0, (C)NH,CI (D) none
=1 3 & 3 Ie@ T qo1 FeHdIae 9 I o)

(A) CH, (B) H,0, (C)NH,CI (D) FI% &l

An ideal gas obeying kinetic gas equation can be liquified if .

(A) It temperature is more than critical temperature

(B) It's pressure is more than critical pressure

(C) It's pressure is more than critical pressure but its temperature is less than critical temperature.
(D) It can not be liquified at any value of P and T.

T e 1N 9 5, T @ o SR &1 uen a8, B sdigd fean o waa € i
(A) 39T T, Hifad a9 W P B |

(B) 9@ 319, Fifud <19 | A &)

(C) 5w®1 <, wifad < | 3D & W g9 a1, Hifde a9 A HH B |

(D)

D)Pden To fooddl ff 7 W 39 gfaad =& fovar o1 wepar 2|

H
|

0]
+
Which is the correct statement for @ H ion

) Loan pair of electron of O atom is in conjugation.
) -OH," is +M group.

) -OH," shows +| effect.

) The benzene ring is deactivated.
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32.
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O
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(A)OWRETY] & Udhd AT gelagld GTHA § W7 A4 @ |
(B)-OH," +M g gorfar 2 |
(C)-OH," +l ysrq gerfar 2 |

(D) 319 9@9 # A9 U U 2 |

Minimum amount of heat will be liberated by complete hydrogenation of following in
presence of Ni catalyst.

Ni STUd @ SuRedl d gl giggiadasy w® 9 4 9 fo@d =qFaq amn 4 S
fraad 87

(A)m (B)@ (C)HC=C-C=C-CH,-CH, (D)A

Which of the following compound can give Lassaignes test of nitrogen ?

(A) Pyridine (B) Benzene diazonium chloride
(C) Hydrazine (D) Hydrazoic acid

i OS2 31 WA A e 5 oA e s s i L L A 14

(A) RS (B) 91 STETWITIA FARTES
(C) BrEg el (D) BERSIEH 3t

The longest C — N bond length in the given compound is :

f&d ™ A § C— N9y oz =1 4 arfdread &

CH, (|3Hs
NZC NW
Z 1 cH,
N N
AN oy
(A) x (B)y
€z D)w

The compressibility factor for nitrogen at 330 K and 800 atm is 1.90 and at 570 K and 200 atm is 1.10.
A certain mass of N, occupies a volume of 1 dm® at 330 K and 800 atm. Calculate volume occupied by
same quantity of N, gas at 570 K and 200 atm:

300 K @ 800 atm W ATggIoM &1 gwiifsaar qonie 1.90 @ @ 570 K @ 200 atm W F=ifegar oid 1.10
21 330K 800 atm WX 1 dm® &1 U% e N, &1 fRad gamM Bvar 81 570 K 200 atm W N, 74
T | AT GRT N1 ] A IRSford BTy |

(A)1L (B)2L (C)3L (D)4L

If it is known that in Feggs O, Fe is present in +2 and +3 oxidation state. What is the mole fraction of
Fe” in the compound?

A Fegos O # Fe +2 T +3 Sifefiamor sraven # wit g1l 2 | A # Fe®* @1 At fire @ 27

(A) 12/125 (B) 25/12 (C) 112 (D) 11/12
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36.
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38.

If there are three possible values of (—% 0, + %j for the spin quantum number, then the maximum

capacity of third orbit will become of :
(A) 18 electrons (B) 27 electrons (C) 36 electrons (D) Infinite electrons

If Fhv1 FieH T & foy dF gwa 71 [—%,0,+%) 2, O T BE P ATbad & &
(A) 18 gelggi & (B) 27 gelag i & (C) 36 gerag( @l (D) & gelgg

If r, be the radius of first Bohr's orbit of H-atom, the de-Broglie's wavelength of an

electron revolving in the third Bohr's orbit will be :

afe H-WRATY] @ 9¥ 9% He1 $1 5991 r 8, 99 A1 R F& H "gIB @AM AT VD

3ATFCTT B SI—-gi7el axaded iy .
(A) 2nr, (B) 4nr, (C) 6, (D) 7,

Which of the following would be expected to have zero dipole moment on the basis of symmetry ?

ufifd & MR W = 7 @ feas forg, feya smeel &1 w9 3w @ ?
(A) XeF, (B) OF, (C) SF, (D) NF,

In the preparation of iron form haematite (Fe,O3) by the reaction with carbon
Fe,0O3+ C —— Fe + CO,
How much 80% pure iron could be produced from 120 kg of 90% pure Fe;05?
FeA & A1 JFfFAT gRT eWeEe (Fey05) & 3MRA & fomfor #
FezO3 +C —— Fe+ C02

90% & (Fe,03) & 120 Kg # Scutfad 80% Y& MA=A fohaem 872
(A) 94.5 kg (B) 60.48 kg (C) 116.66 kg (D) 120 kg

Find out number of C—-H & bonds and C — C = bonds respectively in given molecule :
f&& M o1 § C-H 6 99 T2 C — C 7 989 &1 Ho1: | 91 B -

(A) 10,5 (B) 10, 4 (€)9,3 (D)9, 5

Which of the following is the least stable resonating structure :

= 3 P WX, gAad Rl A wYa § ?
@ o Q @
(A) CH,=CH-CH-CH-0OCH,-CH,-CH, (B) CH,-CH-CH = CH-0OCH, - CH, - CH,

Q @ (€] (]
(C) CH,-CH=CH-CH=0CH,-CH,—CH, (D) CH,=CH-CH-CH = OCH, - CH, - CH,



39.

Member of which of the following pair of isomers are not position isomers ?

= # & Pian garead) 3 Reifd awmgaear 78 <9 € ?

OCOCH, CH, T o
(A)//\T/\\ &(aw)/»\v/L\ ®) & (7en) [f:]’ :
COOCH,
C

OH OH -
Cl H

(C) <:ﬂ) & (den) K::g (D) /»\V/L\&(mm //\T/“\
H €

OH

40.  Identify the structure of X (fFr=iferRaa aifdfsrar # "X @1 veanf |)
H/Ni
A 0 (0] 0 0 0 0
0, 'H” H”HH”H Hl||| HH
g CHi=C=CH,~C—H+H=~C~H:+ CH,~C~C-CH,~C-H
Y
| z
(A) (B) (€) (D)
PART - lll (BIOLOGY)
A= Il (Sira fasm)
Straight Objective Type

This section contains (41-75) multiple choice questions. Each question has 4 choices (A), (B), (C) and (D) out of
which ONLY ONE is correct.

Y TGS THR

39 @IS ¥ (41-75) T5-fwedl WA & | IS WA @ 4 fAFed (A), (B), (C) 7 (D) &, formi @ R w& @&l 2 |

41.

42.

Select the wrong pair

(A) RQ of malic acid — 1.33

(B) C, plant — Sorghum

(C) SER - Storage of proteins

(D) Cell recognition — Glycoproteins and Glycolipids of plasma membrane

e I I g

(A) ¥ vt &1 RQ-1.33

(B) C, Uiy — §IREH

(C) SER - 01\ &1 we

(D) FIRTH! AT — AT Bell B TARHIWCIE qAT A DICIISH

Excess of maganese causes deficiency of

(A) Calcium, zinc & copper (B) Iron, copper, & zinc

(C) Magnesium, copper & iron (D) Calcium, Iron, magnesium
IS @ SHfedar fFaat e &1 SR |

(A) Calcium, zinc & copper (B) Iron, copper, & zinc

(C) Magnesium, copper & iron (D) Calcium, Iron, magnesium
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44.

45,

46.

47.

48.

Which element is used for the uptake and utilization of calcium.

(A) Potassium (B) Boron (C) Magenesium (D) Zinc
=1 § | P d@ Dfowam & IFUEYT qA ST & oY Yy B B |
(A) drefRram (B) IRt (C) F=f¥mH (D) 5
Select the wrong pair
(A) Red tide - Gonyaulax
(B) Cellulosic cell wall - Archeobacteria
(C) Saprophytic protest - Slime moulds
(D) Mycoplasma - Cell wall less & can survive without oxygen.
T g B Bifcd—
(A) XS TI5S (dTel T_) - RUERIEESS]
(B) Uy IR AR - iR
(C) weirasidl wifeve - ATSH Hies
(D) ATZHIATH - HIRMHIMRT T qen sifwfiom & fa Sifda @ wad 8
Stroma lamellae membranes lack
(A) PS-II (B) PS-I
(C) PS-1 and NADP reductase enzyme (D) PS-ll and NADP-reductase enzyme
T il B Farell § 1 AJuRerd 81 o—
(A) PS-II (B) PS-I
(C) PS-l @2 NADP Reacsl GwaiTgd (D) PS-ll @2 NADP Redes U~irgH
Ginger is homologous to
(A) Sweet potato (B) Turnip (C) Onion (D) Mango ginger
v =1 # s awed @
(A) TTIRE< (B) =X (C) &t (D) 31 B
3 h; i

The above diagram shows the stage

(A) Anaphase (B) Metaphase (C) Prophase (D) Transient metaphase
SWIad o ST graen & g © -

(A) Anaphase (B) Metaphase (C) Prophase (D) Transient metaphase
Which one of the following pair the two items meaning of which is different :

(A) Erythrocytes - red blood cells (B) Leukemia - blood cancer

(C) Patella - Knee cap (D) Platelets - Granulocytes

=1 4 9 5w g & el ¥ 5 el 1 R 9 T © -

(A) SRR - Tl & PHioTHI (B) R HAT - 3 HER

(C) 9cel - ge & el (D) wiceled - I=[ArdrseH
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50.

51.

52.

53.

54.

55.

56.

57.

People recovering from-long illness are often advised to include the alga Spirulina in their diet because it

(A) makes the food easy to digest (B) is rich in proteins

(C) has antibiotic properties (D) restores the intestinal microflora

Arll @1 = R A g @ e Ao H Aaa—geier] o @l AR alE & Wl & difd

(A) T WIS BT YT AT A B | (B) S WIEH @ W AT B B |

(C) s wfirifde o1 U I & | (D) 33T ATZHIFART BT G: FART Bl 2 |

Main difference between brain of forg and that of rabbit is that in rabbit is found

(A) No pons varoli (B) Well developed olfactory lobes

(C) Corpus callosum (D) Well developed diencephalon

Wed 9 TN & ARTD A G IR ¢ b WA & ARG H B 2 |

(NEZRISEERE FRE (B) =1 five qof R

(C) B betrem (D) gl fafia STguaRIBa

Male and female cockroach are differ due to presence or absence of

(A) Anal cerci (B) Anal style (C) Both 'A"and 'B' (D) Anal seate

TR TN AIGT PIARE fhaa) STRfT A1 AguRafy & omeR W e B B

(A) T (B) X @ (C)'A'g'B' T (D) T R

The pancreas secretes insulin in response to :

(A) Anincrease in body activity (B) A hormone released by the pituitary gland

(C) Low blood glucose (D) High blood glucose
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Forests of nephridia are present in

(A) pharyngeal region (B) clitellar region (C) anal region (D) none of these
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Transitional epithelium is found in

(A) Larynx (B) Vein (C) Kidney (D) Urinary bladder
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In mammals, digestion begins in

(A) Buccal cavity (B) Stomach (C) Duodenum (D) Intestine
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Palmately compound leaves are found in

(A) Neem (B) Acacia (C) Cassia (D) Silk cotton
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At metaphase, chromosomes are attached to the spindle fibres by their

(A) Satellites (B) Secondary constrictions

(C) Kinetochores (D) Centromere
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The stage in which chiasmata can be seen is

(A) Leptotene (B) Zygotene (C) Pachytene (D) Diakinesis
srawer R fUsier <@ o wad 8 98 2 |
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Ribosomes are attached on the surface of RER by
(A) Plasmodesmata (B) Desmosome
(C) Ribophorin | and Il (D) Fertilizim
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A hypothetical chemical involved in the flowering of plants which has important role in flowering is
(A) Gibberellin (B) Kinetin
(C) Indole acetic acid (D) Florigen
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Kranz anatomy can be observed in leaves of
(A) Sorghum (B) Spinach (C) Mustard (D) Tulip
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Read the following table & select the correct option.

Common .Main Stored food Cell wall No. of.ﬂ-agella. & Position

name pigment of their insertion

Chlorophyceae |Green algae A Starch B c
Phaeophyceae | Brownalgae i ii Cellulose & algin iii
Rhodophyceae | Red algae 1 2 Cellulose 3

(A)i=chla, b, ii = Mannitol, Laminarin iii = 2, Equal, lateral

(B) 1 =chl a, c, phycoerythrin, 2 = Cyanophyseal starch, 3 = 2, unqual, lateral.
(C) A=chl a, b, B =Cellulose, C = 2-8, unequal, lateral

(D) A= Chl a, b, ii = Manitol, laminarin 3 = Absent
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(A)i=chla, b, ii = #iera, affmRE, i = 2, F9H, ured

(B) 1 =chl a, ¢, FTZHERIA, 2 = AAHEREE wid, 3 = 2, FFAM e
(C)A=chla, b, B =¥, C = 2-8, 3, uTed

(D) A= Chl a, b, ii = #¥iIcld, @MIMRA, 3 = suRed

Deuterostome condition and indeterminate radial cleavage are characteristic of

(A) chordates and arthropods (B) chordates and echinoderms

(C) arthropods and echinoderms (D) chordates, arthropods and annelids
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Parathyroid gland degenerates. Which activity is disturbed-

(A) Growth (B) Calcium concentration

(C) Potassium concentration (D) Sodium concentration
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Thyrocalcitonin

(A) Elevates K* level in blood (B) Lowers Ca** level in blood

(C) Elevates Ca? level in blood (D) None of the above

(A) SR § Ko®R # gfg oxar 8 (B) ®feR # Ca** &R # &# &l &
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In man ribs are attached to

(A) Clavicle (B) lleum (C) Sternum (D) Scapula
799 A gaferdl feed e wEdl &

(A) Fifddmd (B) sfermm (C) %eq (D) THga
Unstriated muscles are found in -

(A) Veins (B) Arteries (C) Uterus (D) All the above
arfRga Rt oY ot &
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When heart beat decreases the condition is called

(A) Bradycardia (B) Tachycardia (C) Leucopenia (D) Cardiac arrest
B3 Wed &) A B AT A B ST Bl 8
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Sphincter muscles are found at (refer figure) :

(A)12and 9 (B)2,7and 8 (C)8and 10 (D) 14 and 7
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Which one is detritus feeder

(A) Parrot (B) Sheep (C) Unio (D) Dung beetle
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7. Protista differs from Monera in having

(A) Flagella (B) Cell wall

(C) Nuclear membrane (D) Autotrophic nutrition
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(A) T4 (B) 1@ iRy

(C) P el (D) <} Ty
12 Total energy requirement for fixing one CO, by combined C, cycle is

(A) 5 ATP+ 4 NADPH (B) 3 ATP + 4 NADPH

(C)5 ATP + 2 NADPH (D) 8 ATP + 2 NADPH

GYH C, = N1 Uh CO, D Rekidxvr & g et srawasd ol & |

(A) 5 ATP+ 4 NADPH (B) 3 ATP + 4 NADPH

(C)5 ATP + 2 NADPH (D) 8 ATP + 2 NADPH
73. Which of the following is less general in characters as compared to order

(A) Phylum (B) Class (C) Family (D) Kingdom

< 2 3 5 B A B G I L

(A) &E (B) (C) B (D) ST
74. The roots of Pinus bear

(A) Anabaena (B) Nostoc (C) Mycorrhiza (D) Frankia
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75: A plant has ovules, presence of archegonium. It may be

(A) Bryophyte (B) Angiosperm (C) Pteridophyte (D) Gymnosperm.
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